1. Add the following.

Addition of Large Numbers

a 2 873 5 82 b 5 837 2 89
+3 792 2 72 +3 892 5 21
c. d 3 45396 101
5 792 8 97
21059 3 487
+ 821 8 12

+ 5612 0011

2. Arrange the following in columns and add.

a. 1089451, 6836129 and 8510312
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b. 38912351, 9012352, 93125681 and 81354127
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3. Neel purchased a radio set for X 581, a music system for X 15,156, a wrist watch for

X 3,548 and a television for X 21, 056. Find the total cost these items.
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4. The vegetable stock in a cold storage has 65, 27, 408 bags of green vegetables. How

many total bags in all are there in the cold storage?
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